

Helmholtz Velocity Equation. If the
 velocity is irrotational and
 is a function of pressure only

$$\nabla \left(\frac{v^2}{2} \right) = \left(\frac{v}{\rho} \cdot \nabla \right) \rho$$

If ρ is irrotational $\nabla \times \rho = 0$

If ρ is a function of pressure only
 we get a relation of ρ to p

$$\rho = \rho(p)$$

$$\Rightarrow \nabla \rho = \sum_i \frac{\partial \rho}{\partial x_i} \mathbf{e}_i = \sum_i \frac{d\rho}{dp} \cdot \frac{\partial p}{\partial x_i} \mathbf{e}_i = \frac{d\rho}{dp} \nabla p$$

$$\Rightarrow \nabla \rho = \frac{1}{\rho} \nabla \rho \rightarrow \text{circled } \rho$$

Lagrange's equation of motion

$$\frac{d\mathbf{q}}{dt} = \mathbf{F} - \frac{1}{\rho} \nabla p$$

Individual Lagrangian change (w.r.t. \mathbf{q})

$$\frac{\partial \mathbf{q}}{\partial t} + (\mathbf{q} \cdot \nabla) \mathbf{q} = -\nabla \rho - \nabla p$$

$$\text{But } \nabla (\mathbf{q} \cdot \mathbf{q}) = 2 [\mathbf{q} \times \text{curl } \mathbf{q} + (\mathbf{q} \cdot \nabla) \mathbf{q}]$$

$$\nabla \left(\frac{q^2}{2} \right) - \mathbf{q} \times \text{curl } \mathbf{q} = (\mathbf{q} \cdot \nabla) \mathbf{q}$$

$$\frac{\partial \vec{q}}{\partial t} + \nabla \left(\frac{q^2}{2} \right) - \vec{q} \times \text{curl } \vec{q} = -\nabla (\Omega + P)$$

$$\frac{\partial \vec{q}}{\partial t} + \nabla \left[\Omega + P + \frac{1}{2} q^2 \right] = \vec{q} \times \vec{W}$$

$\because \vec{W} = \text{curl } \vec{q}$

Taking curl of both sides & noting that
Curl grad of any vector = 0

$$\text{curl } \frac{\partial \vec{q}}{\partial t} + \text{curl } \nabla \left[\Omega + P + \frac{1}{2} q^2 \right] = \text{curl } \vec{q} \times \vec{W}$$

$$\frac{\partial \vec{W}}{\partial t} = \text{curl } (\vec{q} \times \vec{W})$$

$\left(\begin{array}{l} \text{curl } \frac{\partial \vec{q}}{\partial t} = \frac{\partial}{\partial t} \text{curl } \vec{q} \\ = \frac{\partial}{\partial t} \vec{W} \end{array} \right.$

$$\text{or } \frac{\partial \vec{W}}{\partial t} = \vec{q} (\nabla \cdot \vec{W}) - \vec{W} (\nabla \cdot \vec{q}) + (\vec{W} \cdot \nabla) \vec{q} - (\vec{q} \cdot \nabla) \vec{W}$$

$$\text{But } \nabla \cdot \vec{W} = \text{div } \vec{W} = \text{div } \text{curl } \vec{q} = 0$$

& Equation of Continuity is $\frac{\partial \rho}{\partial t} + \rho (\nabla \cdot \vec{q}) = 0$

$$\text{so } \frac{\partial \vec{W}}{\partial t} + \frac{\vec{W}}{\rho} \frac{\partial \rho}{\partial t} + (\vec{W} \cdot \nabla) \vec{q} - \vec{q} \cdot \nabla \vec{W}$$

$\text{so } \nabla \cdot \vec{q} = -\frac{1}{\rho} \frac{\partial \rho}{\partial t}$

$$\left(\frac{\partial}{\partial t} + \vec{q} \cdot \nabla \right) \vec{W} = \frac{\vec{W}}{\rho} \frac{\partial \rho}{\partial t} + (\vec{W} \cdot \nabla) \vec{q}$$

$$\frac{d\vec{W}}{dt} = \frac{\vec{W}}{\rho} \frac{\partial \rho}{\partial t} + (\vec{W} \cdot \nabla) \vec{q}$$

$$\text{or } \frac{1}{\rho} \frac{d\vec{W}}{dt} - \frac{\vec{W}}{\rho^2} \frac{\partial \rho}{\partial t} = \frac{1}{\rho} (\vec{W} \cdot \nabla) \vec{q}$$

$$\text{or } \frac{d}{dt} \left(\frac{\vec{W}}{\rho} \right) = \left(\frac{\vec{W}}{\rho} \cdot \nabla \right) \vec{q}$$

This is called Helmholtz Vorticity Equation